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I . Let f(xc)
, g(c) =x on [0 , 1].

Sid==

(Sixdx)" = ( ! ) = (2)=
# Consider f(x) = () has abomin at c= 0. But f'(o) DNE

#. Consider f(x) =P is not differentiable at x=

V
. let f(x) =x on [0 , 17 ,

then

Side = E ! = (t - a) = 0 + f(x)

g

A
.

let u= x3 -> dubods
x= uk + dx = + du= stydul

Sit d = Sit do
3x3

(1) = 1
,
u(z) = 2 = 8
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See Q1 v

See below
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C . let f(t) = t 2 on (0
,
x)

·

Stidt==
f(x) - f'() = 2x



d= (x + f(x)- 1)- (1 + f(x-1 . 2x)

d3
= z(z + f(si)

==(1 + f((8) - 2(3))

=

f"(u) = zu- 44 l

f(m) = [f"(u)du = 2 . -4 + C

= n2 - Suk + C ,

+(d =2 => 028(6)"2 + 4 =2 = 4 = 2

: f (n)= v2-8u'l + 2

f(u) = Slu) du = Su2-8n +2 du

=
= m lu +2 L

f(a= => 0 - 0 + 0 + ( = = (=

:
- f(u) = 43 - Azubk + 2n -1



① Sf(x) da

SYf(dx = SY f(x)dx + S f(x) de
E 5 = + + Sef(x)dx
= Sfxid = 6

② Shou do

S92h6)dx = 4 = Sh(x)dx = z

③ S[f() + 3h(x)]dx = (, - f(x)dx + (93h(x)dx
=

- (
,

9 f(x)dx+ 3), h(x)dx
=

- G + b(z)

= o


